6 Appendix (For Online Publication)

Proof of Lemma 1. Suppose ((e7, 07, ), (€5, 65, 23)) is a pure-strategy Nash equilibrium.

Then, e; must satisfy: (1) ef € argmax,, Us((e;, 07, 7), (e}, 05, 27)) and (2) ej, = 0 when-

* *

ever there exists ¢; € argmax,, U;((e;, 07, 27), (e}, 07, 27)) with e;s = 0. It follows from
(1) and (2) that e}, = M;; and e, = 01if M;; > My, and e} = 0 and e, = M, if

My < My, where M,;, = gfi. Furthermore, we obtain the following formulas: M;; =
(05 + G(z7, 73) - 0; 1) (ZE ) and My = (0, + G (27, 73) - 8}5) (Z_S) . [

*

Proof of Lemma 2. Suppose ((e7, 07, x}), (e}, 65, 23)) is a pure-strategy Nash equilibrium.
Then, 67, must satisfy: (1) 8}, € argmaxy,, U;((e], (0is, 05, ), x7), (€5, 0%, 2%)) and (2) 0}, = 0 if

3170 J
0 € argmaxy,, U;((e, (0is, 07y), 27), (€], 05, 23)). 1 € argmaxy,, Ui((€], (0is,05,), 77), (€5, 05, 5
if and only if a;, — @ > 0, and 0 € argmaxy,, U;((e], (0is, 0}y ), z7), (e, 05, x7)) if and only

if a, —a; < 0. It follows from (1) and (2) that 6, = 1 if and and only if o}, — @; > 0.

From Lemma 1, we know that, for some s, e}, = 0. When e}, =0, a}, —a, < 0. Hence,

07, = 0. Therefore, ¢}, = 0 for some s. This completes the proof. O

7 Vs

Proof of Lemma 3. Player i’s self-esteem is given by: E! = 322 % (af, — @*). By Lemma
2, we know that a}, —@* > 0if 67, = 1. It follows that E! > 0 and E! > 0if 65, = 1 or
0%, = 1. This proves (1).

Recall that F/ = 7 07, (aj, — as). If players hold the same values (0 = 07), it
follows that Ef = E!. Since E! > 0, Ef > 0 when players hold the same values. Since
E! > 0 when player i values academics or music, E/ > 0 when the players hold the same

values and value academics or music. This proves (2).

Now suppose players hold different values (0; # 07). Suppose 67, = 1. Itis easy to
show that 7, = 0. What if this were not the case and ¢}, = 1 instead? From Lemma 2,
we know players value at most one activity. So, if 6}, = 07, = 1, the players must hold
the same values, which contradicts 6] # 07. Since we know 0}, = 0, it follows from
Lemma 2 that aj; — @; < 0. Thus, whenever 0}, = 1, aj, — a@; <0, it follows that E! <0.
This proves (3). [
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Proof of Lemma 4. Suppose the players hold the same values and they value academics
or music. It follows from Lemma 3 that the players have strictly positive esteem for one
another (E/ > 0). If k = 0%, the players must interact in equilibrium. We can prove this
by contradiction. Suppose the players do not interact in equilibrium (27 = 25 = 0). In
equilibrium, x} € argmax,, Ui((e], 0, x;), (€},05,27)). But 0 & U((e},0;,2:), (e}, 07,27))
since player i, in choosing x; = 1 rather than 2, = 0 gains utility £/ — k. And, E/ —k > 0
since £/ > 0 and k = 0*. This proves the first part of the lemma.

Suppose one player values academics and the other values music. It follows from
Lemma 3 that the players negatively esteem one another (E; < 0). The players will not
interact in equilibrium if £ = 0. Again, we can prove this by contradiction. Suppose
the players do interact. Then, for one of the players (player i), we must have z = 1. In
equilibrium, z} € argmax,, U;((e}, 0, 7:), (e}, 07,23)). But0 & Us((e}, 07, i), (€}, 05, 7))

If player i chooses z; = 0 rather than z; = 1, he gains utility k — (1 — ;) E/. Since, E/ <0
and k = 0%, k — (1 — z;)E! > 0. This proves the second part of the lemma. O

Proof of Proposition 1. Suppose az > oy and k = 0*. We will characterize the equilibria

that exist as a function of «y, ay, and n.

It will be useful, in characterizing the equilibria, to use some shorthand. According
to Lemma 1, we can denote an equilibrium by ((6}, z}), (65, 25)). It is not necessary to
specify the effort level, since it can be deduced from Lemma 1. We also know from
Lemma 2 that 6 € {(1,0),(0,1),(0,0)}. Therefore, we will examine all combinations
of the following form to see, under what parameters, they are equilibria of the game:
{((61,21), (02,22)) : 0; € {(1,0),(0,1),(0,0)},2; € {0,1}}.

To check whether these combinations are equilibria, we will need to consider a vari-
ety of deviations by the players. We will denote deviations by player i by (;, z}). We
do not bother to specify the effort level of player i when he deviates, since we know the
optimal choice of effort. It is optimal for player i, when he deviates, to choose €}, = M;;
and e}, = 0if M;; > M,; it is optimal for player i to choose ¢€;; = 0 and €}, = M, if
M;y < Myy; where My, = (6], +G (2, 7;)-0;1) (25 a;) and My = (0l + G (], ;) -052) (2£3).
Player ¢ always focuses effort on one activity when he deviates and so is below average
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at one of the activities. Thus, he will never choose to deviate to 6, = (1,1). Thus, we
will only check deviations of the form: {(0}, %) : 6, € {(1,0),(0,1),(0,0)}, z; € {0,1}}.

We will now systematically check all the combinations. We start with cases where

players do not interact (z; = x2 = 0) and then turn to cases where players do interact.

Case 1: No interaction (z; = 25 = 0)

There are five types of combinations to check. We will consider each in turn.

1.

2.

6, =6, = (1,0)
If the players follow these strategies, U, = 3 (Z—E)z a3 — (;j;)?a% If player 2
deviates to 0, = (1,0), 2, = 1, this yields: U} = 2 (Z—j:;) — 2(”:21)2% This

deviation is profitable if 2(n + 1)a3 > of. Suppose this deviation is not profitable:
3(n+1)aj < af. If player 2 instead deviates to 0, = (0,0), 5 = 0, this yields:
U, = 0. This deviation is profitable if (n + 1)aj < of (which is true, since 2(n +
1)as < af). In summary, one of these two deviations will be profitable. Thus, (1)

is never an equilibrium.

91 ( ) 92 (07 1)

If the players follow these strategies, they receive: U; = 3 (Z—i;)z o3, Uy =1 (Z—S)Q :

In order for this to be an equilibrium, there cannot be any profitable deviations.

There are ten deviations we need to check.

n+2 (n+2)2°

(i) Player 1 deviates to 0] = (0,1), 2} = 0: yields U] = % (n_+1)2 _ _ntl
(0,

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = 0.

+

(iii) Player 1 deviates to 8] = (1,0), z| = 1: yields U] = 1 (& 1)2 max(a?, 1) — -2t

(nt2)7"

+\
[N}

(iv) Player 1 deviates to 0; = (0,1), 2} = 1 ylelds Ul =2 (%) — 2525
(v) Player 1 deviates to ¢; = (0,0) and 2} = 1: yields U] = 3 (n—Jr;)2 —
(vi) Player 2 deviates to 6, = (1,0), 24, = 0: yields Uj = 3 (%)2 a5 — ot
(vii) Player 2 deviates to ¢}, = (0,0), 2, = 0: yields U, = 0.
(viii) Player 2 deviates to 6, = (1,0), 24, = 1: yields U} = 2 (”*1)2 aj — 285m0
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(ix) Player 2 deviates to 6, = (0,1), %, = 1: yields Uj = 3 (255) max(a3, 1) —
n+1 a2
(n+2)2-"1"

(x) Player 2 deviates to 6, = (0,0) and 2, = 1: yields U} = 1 (Z—iéf aj — ot

Observe that (2) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (2) to be an equilibrium, but only

conditions (iv) and (viii) are binding;

Condition (iv): o] > 2%

Condition (viii): o > (n + 1)(a2 — 1)

These conditions can be simultaneously met if n» = 0 but not whenn > 1. Let us
+1 -

see why. Since a} < o3, we must have: (n + 1)(e3 — 1) < a3, or o < %L This

implies we must also have o? < "“ Since we also have o2 > %, it follows that

we must have: 22 < of < &5 For n>1, 4f1 > 2 50 equilibria of this type will

not exist.

3. 91 - (O, 1),62 - (1,0)

If the players follow these strategies, they receive: U; = % (Z:[;) JUa=1 (Z—S)Q a3.
In order for this to be an equilibrium, there cannot be any profitable deviations.
There are ten deviations we need to check.

(i) Player 1 deviates to 6] = (1,0), 2} = 0: yields U] = 3 (Z—j:;)z af — i

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = 0.

(iii) Player 1 deviates to 0 = (1,0), | = 1: yields U] = 2 (2 2)2 af — 285505,
(iv) Player 1 deviates to §; = (0,1), #} = 1: yields U] = 1 (Z—E)Qmax(al, 1) —
a0

(v) Player 1 deviates to ¢} = (0,0) and z} = 1: yields U] = 1 (21—3)2 of — M5 a3
(vi) Player 2 deviates to 65 = (0,1), 24, = 0: yields U} = 3 (%)2 —

(vii) Player 2 deviates to ¢}, = (0,0), 2}, = 0: yields U} = 0

(viii) Player 2 deviates to 0 = (1,0), 2}, = 1: yields U} = § (”—:[;)2 a3 —
(ix) Player 2 deviates to 6, = (0, 1), 25, = 1: yields U} = 2 (il)2 - 2%.
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(x) Player 2 deviates to 6, = (0,0) and 2, = 1: yields U} = 3 (”—H)2 — 4

n+2 (n+2)2°

Observe that (3) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (3) to be an equilibrium, but only
conditions (iii)/(v) and (ix) are binding:

Condition (iii)/(v): o3 > (n+1)(af — 1)
Condition (ix): a5 > 2

Combining these conditions, we obtain: a3 > max (-2 S (n+ 1) (of -1)

4. 0, =(0,1),6, = (0,1)

If the players follow these strategies, U, = 1 (2 2) — o5 1f player 2 deviates
to 0, = (0,1), ¥, = 1, this yields: U} = 2 ("“)2 2

ntl . This deviation is always
profitable. Thus, (4) is never an equilibrium.

(n+2)%*

5. 91 = (0,0) or 92 = (0,0)

Suppose 0; = (0,0) and player j chooses some 6;. Then, when the players follow
these strategies U; = 0. We know that player j focuses on at most one activity in
equilibrium. Suppose player j is not focused on activity 1. If player i deviates
to 0, = (1,0), 2} = 0, this yields U/ = 1 (2—3)2 a? > 0. Suppose instead player j
is not focused on activity 2. If player ¢ deviates to ¢, = (0, 1), 2} = 0, this yields
Ul =3 (Z—E)Q > 0. So, there is always a profitable deviation. Thus, no equilibria
of this type exist.

Case 2a: Interaction, initiated by both players (v; =z, = 1)

Observe that there will be a profitable deviation for player 1 to §; = 6;, 2} = 0 since

k > 0. Thus, no equilibria exist in which both players initiate interaction.
Case 2b: Interaction, initiated by player 1 only (z; = 1,2, = 0)

Observe that, because £ > 0, it will not be profitable for player 2 to deviate to =, = 1.

Thus, it will be sufficient to restrict attention to deviations by player 2 in which z, = 0.
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We know from Lemma 4 that, since £ = 0%, equilibria do not exist in which 6, = (1, 0),
8, = (0,1), and players interact. This means that there are three types of combinations
to check.

1. 91 == 92 = (1,0)

If the players follow these strategies, they receive: U; = 2 (Z—jrr;)Q of — 4G,

Uy =2 (2—3)2 al—4 (::21)2 3. In order for this to be an equilibrium, there cannot be

any profitable deviations. There are seven deviations we need to check.

i) Player 1 deviates to ¢, = (0,1), #} = 1: yields U] = 1 (2t ? max a? 1) —
y 1 1 y 2

2 (7?;51)2 3. "
(ii) Player 1 deviates to #; = (0,0), 2} = 1: yields U] = 3 (Z—JF;)Q af — 2085505
(iii) Player 1 deviates to 6} = (1,0), z} = 0: yields U] = 1 (Z—i;)z a? — 2(::21)2a§
(iv) Player 1 deviates to 6] = (0,1), 2} = 0: yields U] = 3 (Z—S)Q
(v) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = 0.

(vi) Player 2 deviates to ¢, = (0,1), 2, = 0: yields U; = %(L“)zmax(ag, 1) —

n+2
n+1
2(n:2)2a%’
(vii) Player 2 deviates to ¢ = (0,0), 24 = 0: yields U} = 3 (Z—j:;)z — 285m0t

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (1) to be an equilibrium, but

only conditions (iv), (vi), and (vii) are binding:

Condition (iv): o3 < 3(n + 1)(a? — 1) (this inequality is strict because player 1
prefers not to initiate interaction, since k = 07).

Condition (vi): a3 > 2L + 1

Condition (vii): a2 > 42
* 3n+l

2. 6, = (0,1),05 = (0, 1)
If the players follow these strategies, they receive: U; = 2 (Z—E) — A Us =

2 (Z—E) — 42555 Inorder for this to be an equilibrium, there cannot be any prof-

itable deviations. There are seven deviations we need to check.
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(i) Player 1 deviates to 0] = (1,0), } = 1: yields U] = %(L“)inax(af, 1) —

n+2
2 nt1
2P
(ii) Player 1 deviates to 8] = (0,0), } = 1: yields U] = 1 (Z—Q)Q — 205
(iii) Player 1 deviates to 6} = (1,0), | = 0: yields U] = 1 (Z—j:;)z ol
(iv) Player 1 deviates to 6] = (0,1), 2} = 0: yields U] = 3 (Z—E)z — 25
(v) Player 1 deviates to 6] = (0,0), ), = 0: yields U] =0

(vi) Player 2 deviates to 6, = (1,0), 25, = 0: yields Uj = %(Z—“)Qmax(ag, 1) —

+2
n+1
2 (n+2)2°
(vii) Player 2 deviates to 0, = (0,0), 24, = 0: yields U} = 3 (Z—S) — 255

Observe that (2) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (2) to be an equilibrium, but

only conditions (iii) and (vi) are binding;:

Condition (iii): af < 4(%}) (this inequality is strict because player 1 prefers not to

initiate interaction, since k = 0*).
Condition (vi): a5 < 4(;47)
3. 6, =(0,0) or 6, = (0,0)

Suppose 0, = (0,0). It is always profitable for player 1 to deviate to =} = 0.
Suppose 6; = (0,0) and 65 = (1,0). Then U; = 3 ("—“)2 a? — (::21)2% If player 1

n+2
deviates to z} = 0, this yields U] = 0 (which is profitable when a3 > l( + 1)a?).
If player 1 instead deviates to ¢; = (1,0), this yields U] = 4 (”“) — 208503

(which is profitable when 2(n+1)a} > a3). Clearly, one of these dev1at10ns will be
profitable. Finally, suppose 6, = (0,0) and 6, = (0,1). Then U, = % ("—“)2 — odl

n+2 (n+2)2"°
If player 1 instead deviates to ¢} = (0, 1), this yields U] = 2 (”“) — 22455, which
is always profitable. Hence, there is always a profitable deviation when ¢, = (0,0)

or #y = (0,0).
Case 2c: Interaction, initiated by player 2 only (z; = 0,2, = 1)

Observe that, because £ > 0, it will not be profitable for player 2 to deviate to =5, = 1.

Thus, it will be sufficient to restrict attention to deviations by player 2 in which 2%, = 0.
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We know from Lemma 4 that, since £ = 0%, equilibria do not exist in which 6, = (1, 0),
8, = (0,1), and players interact. This means that there are three types of combinations
to check.

1. 6, =6, = (1,0)

If the players follow these strategies, they receive: U; = 2 ("“) oF — 4(:;1)2043 ,
Uy =2 (”“) a3 — 4445507, Inorder for this to be an equilibrium, there cannot be

any profitable deviations. There are seven deviations we need to check.

(i) Player 1 deviates to 0, = (0,1), 2} = 0: yields U] = %("—“)Qmax(a%, 1) —

n+2
2GaaE 5
(ii) Player 1 deviates to ¢; = (0,0), 2} = 0: yields U] = 1 (Z—Jr;)z af — 20503
(iii) Player 2 deviates to 6, = (0,1), 25, = 1: yields U} = 1 (2—15)2max(a§, 1) —
2maaE
(iv) Player 2 deviates to 65 = (0,0), 24, = 1: yields U} = 3 (Z—é)z a3 — 285m0
(v) Player 2 deviates to 6, = (1,0), z, = 0: yields U; = 1 (2—3)2 a3 — 2 ad
(vi) Player 2 deviates to 6, = (0, 1), 25, = 0: yields U} = 1 (Z—i;)z
(vii) Player 2 deviates to &), = (0,0), 2, = 0: yields U; = 0.

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (1) to be an equilibrium, but

only conditions (i), (ii), and (vi) are binding:

Condition (i): o} < (n+1)(od — 1).

Condition (ii): o3 < 2(n + 1) (this inequality is strict because player 1 prefers,

all else equal, not to value activities).

Condition (vi): a3 > 20‘1 + 1 (this inequality is strict because player 1 prefers not

to initiate interaction, since k =0%).

2. 0, = (0,1),0, = (0,1)
If the players follow these strategies, they receive: U; = 2 (Z—E) — A Us =

2 (Z—E) — 42555 Inorder for this to be an equilibrium, there cannot be any prof-

itable deviations. There are seven deviations we need to check.
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(i) Player 1 deviates to 0] = (1,0), z; = 0: yields U] = %(L“)inax(af, 1) —

n+2
n+1
2
(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = % (Z—S)Z — 2(;321)2-
(iii) Player 2 deviates to 6, = (1,0), 25, = 1: yields U} = 1 (2—3)2max(a§, 1) —
2 n+1
mt2)2"
(iv) Player 2 deviates to 65 = (0,0), 25, = 1: yields U} = 1 (%)2 - 2(,?;21)2
(v) Player 2 deviates to 6, = (1,0), 4 = 0: yields U} = } (Z—j:;)z a3
(vi) Player 2 deviates to 6}, = (0, 1), x4, = 0: yields U} = % (Z—S)Z — 2—(:;1)2-
(vii) Player 2 deviates to ¢}, = (0,0), 2}, = 0: yields U; = 0.

Observe that (2) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (2) to be an equilibrium, but

only condition (v) is binding:

Condition (v): o3 < 4(%7) (this inequality is strict because player 2 prefers not to

initiate interaction, since k£ = 0T).

3. 0, =(0,0) or 6y, = (0,0)

Suppose §; = (0,0). It is always profitable for player 2 to deviate to z;, = 0.
Suppose 6, = (0,0) and 6, = (1,0). Then U, = % (”—“)2043 — 2L a2, If player 2

2 \n+2 (n+2)
deviates to z5, = 0, this yields U} = 0 (which is profitable when af > 1(n + 1)a3).
If player 2 instead deviates to 6, = (1,0), this yields Uj; = 4 (Z—E)Q ag — 2550
(which is profitable when 2(n+1)a3 > af). Clearly, one of these deviations will be

profitable. Finally, suppose 6, = (0,0) and ¢, = (0,1). Then U, = & (2+1)? — il

2 \n+2 (n+2)2*
If player 2 instead deviates to ¢, = (0, 1), this yields U} = 2 (Z—i;)z — 2255, which
is always profitable. Hence, there is always a profitable deviation when #; = (0, 0)
or 0y = (0,0).

Case 2: Combined

If we combine Cases 2a, 2b, and 2c we find the following.

1. An equilibrium with #; = 6, = (1, 0) and interaction between the players exists if:
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2
2a7

(i) o >

.
(i) a2 < (n+1)(a? — }l)

(iil) of < 3(n+1)af

These conditions are the same as those from case 2¢, which are weaker than those
in case 2b. Intuitively, player 2, who is better at academics than player 1, is more

willing to initiate interaction than player 1.

2. An equilibrium with §; = 6, = (0, 1) and interaction between the players exists if:
() of <4(i5)
(i) @ <4(357)
These conditions are the same as those from case 2b, which are weaker than those
in case 2c. Intuitively, player 1 is more willing to initiate interaction than player 2

in this instance.

This completes the proof. O

Proof of Proposition 2. Suppose oy > aq and o, > ay. We will characterize the equilibria
that exist as a function of o, ay, k, and n.

It will be useful, in characterizing the equilibria, to use the same shorthand as we
used in the proof of Proposition 1. Once again, we will examine all combinations
of the following form to see, under what parameters, they are equilibria of the game:
{((61,21), (02, 22)) : 0; € {(1,0),(0,1),(0,0)},2; € {0,1}}. We will first examine com-
binations in which player 2 is a scholar (¢, = (1,0)). Later on, we will show that no

equilibria exist in which player 2 is not a scholar.
Case 1: No interaction (z; = x5 = 0)

Since we assume player 2 is a scholar (6, = (1,0)), we will denote combinations by

player 1’s choice of ;. There are three combinations to check.
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1. 6, = (1,0)

If the players follow these strategies, they receive: U; = 3 (Z—ié)z af — s,

Uy, = % (Z—:[;) 2 ad — (:j21)2 a3. In order for this to be an equilibrium, there cannot be

any profitable deviations. There are ten deviations we need to check.

(i) Player 1 deviates to 6] = (0, 1), 2} = 0: yields U] = 3 (”—“)2

n—+2

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields Uj = 0.

(iii) Player 1 deviates to ¢} = (1,0), 2} = 1: yields U] = 2 (Z—E)Q — 20 — k.
(iv) Player 1 deviates to 0} = (0,1), 2} = 1: yields U] = %(Z—i;) max(a?, 1) —
(::21)26“% —k
(v) Player 1 deviates to ¢; = (0,0), 2} = 1: yields U] = 3 (%)2 af — oabpas — k
(vi) Player 2 deviates to 6, = (0, 1), 24, = 0: yields U} = 3 (Z—i;)Q
(vii) Player 2 deviates to ¢}, = (0,0), 2, = 0: yields U;, = 0.

@ = 1: yields Uy = 2 (2£1)" 03 — 221,02 — k.
2 n+l 2

2
(W) A2 7 r2zM k.

/

(ix) Player 2 deviates to 0} =

3
\+
—
SN—"
N
Q
)

,1), 2, = 1: yields U} = S el —k

/

(
(

(
(viii) Player 2 deviates to 6, = (1,
(
(x) Player 2 deviates to 6}, = (

1
2
=1
2

;3
—= N

[\

Observe that (1) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (1) to be an equilibrium, but only

conditions (i) and (viii) are binding:

Condition (i): o? > 1 + ( o al.
Condition (viii): k& > (n_+2) (303 n+1 a}) = ks.
2. 91 - (O, 1)

If the players follow these strategies, they receive: U; = % (Zié) JUa=1 (%)2 as.

In order for this to be an equilibrium, there cannot be any profitable deviations.
There are ten deviations we need to check.
(i) Player 1 deviates to 6] = (1,0), 2} = 0: yields U] = 3 (Z—i;)z af — s

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = 0.
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(iii) Player 1 deviates to ¢} = (1,0), z} = 1: yields U] = 2 (Z—E)Q af — 25 0s — k.

(iv) Player 1 deviates to 0§} = (0,1), 2} = 1: yields U] = %(”—“)QmaX(l,a%) -

n+2
ntl 02—k
(n+2)2 2
(v) Player 1 deviates to #; = (0,0), 2} = 1: yields U] = 3 (Z—j:;)z af — s — k.
(vi) Player 2 deviates to 6, = (0, 1), 25, = 0: yields Uj = 3 (2—2)2 —
(vii) Player 2 deviates to 6, = (0,0), =, = 0: yields U} = 0.
y 2 2 y 2
(viii) Player 2 deviates to 6 = (1,0), 4, = 1: yields Uj = 1 (Z—j:;)z a5 — by — k.
(ix) Player 2 deviates to 6, = (0, 1), 2}, = 1: yields U} = 2 (Z—j:;)? — 22 — k.
(x) Player 2 deviates to 6, = (0,0), 24, = 1: yields U} = 3 (2—2)2 — g — k

Observe that (2) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (2) to be an equilibrium, but only

conditions (i), (iii), and (viii) are binding:

Condition (i): of < 1+ 2503

Condition (i): k > L (1) 403 — ~4a3 — 1].

Condition (viii): k > 1 (21)% [~ 2],

We can combine conditions (iii) and (viii) as follows:

k> 1 (25) max (40 — e —1,— %) =y

3. 91 - (0,0)

If the players follow these strategies, U; = 0. If player 1 deviates to 6] = (0, 1),

2} = 0, this yields: U] = 3 (Z—E)Q So, there is always a profitable deviation. Thus,

(3) is never an equilibrium.
Case 2a: Interaction, initiated by both players (v; = z2 = 1)

Observe that there will be a profitable deviation to z; = 0if £ > 0. If £ < 0, deviating
to 27 = 0 is (weakly) unprofitable. Therefore, it will be sufficient, after imposing the
condition £ < 0, to restrict attention to deviations in which z; = 1. There are three

combinations to check.
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1. 6, = (1,0)

If the players follow these strategies, they receive: U; = 2 (Zi;) af —4gt5mas — k,

Uy =2 (24) *a2—4 (:j;)z, o} —k. In order for this to be an equilibrium, there cannot

be any profitable deviations. There are four deviations we need to check.

(i) Player 1 deviates to 0, = (0,1), z} = 1: yields U] = %(L“)inax(af, 1) —

n+2
nt1 2
2002 k.

(ii) Player 1 deviates to #; = (0,0), 2} = 1: yields U] =

(”—1)204% -2 ”+12a§ — k.

1
2 \n42 (n+2)

(iii) Player 2 deviates to 05 = (0,1), z§, = 1: yields Uj = 1 (Z—E)Q a3 — 285m0 — k.

(iv) Player 2 deviates to 65 = (0,0), =4, = 1: yields U; = 1 (Z—E)Q a3 —2p85nai — k.

Observe that (1) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations. This yields four conditions for (1) to be an equilibrium, but only

conditions (i) and (ii) are binding:

Condition (): of > ; + —=a3

4
3(nt1)

else equal, to not value activities.)

Condition (ii): o} > o3 (This inequality is strict because player 1 prefers, all

Condition (k): £ <0

2. 81 - (0, 1)

If af > 1, there will always be a profitable deviation for player 1 to ; = (0,0),
z, = 1. So we assume o} < 1. If the players follow these strategies, they receive:
U =1 (2—3)2 — (:j212a2 k,Uy=13 (2—3)2043 — (7’;;1 — k. In order for this to be an
equilibrium, there cannot be any profitable deviations. There are four deviations

we need to check.

(i) Player 1 deviates to 0} = (1,0), 2} = 1: yields U] = 2 (75)2 af — 25 — k.
(ii) Player 1 deviates to #; = (0,0), 2} = 1: yields U] = 3 (Z—jrr;)Q af — oabpas — k
(iii) Player 2 deviates to 6, = (0,1), 2, = 1: yields U} = 2 (Z—Q)Q — 2t — k
(iv) Player 2 deviates to 6, = (0,0), 24, = 1: yields Uj = 3 (n—ié)Q — g — k
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Observe that (2) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations. This yields four conditions for (2) to be an equilibrium, but only

conditions (i) and (ii) are binding:

Condition (i): o} < § + m&g

Condition (ii): o} < 1 (This inequality is strict because player 1 prefers, all else

equal, to not value activities.)

Condition (k): £ <0

3. 91 - (0,0)

If the players follow these strategies, they receive: U; = 3 ("—“)2 of — 5

n-+2
_ 1 (nt1\2 2 ntl 2
Uz = 3 (n+2) 2 7 mr2z™M k.

2
a2_k.,

In order for this to be an equilibrium, there cannot be any profitable deviations.

There are four deviations we need to check.

(i) Player 1 deviates to 0} = (1,0), 2} = 1: yields U] = 2 (2—15)2 af — 25 — k.

(ii) Player 1 deviates to ¢} = (0,1), 2} = 1: yields U] = %("—“)Qmax(af, 1) —

n+2
(::21)2@5 — k.
(iii) Player 2 deviates to 0 = (0,1), 2}, = 1: yields U} = § (Z—:[;)Z — k.

(iv) Player 2 deviates to ¢}, = (0,0), 2, = 1: yields U} = —k.

Observe that (3) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations. This yields four conditions for (3) to be an equilibrium, but only

conditions (i) and (ii) are binding:

Condition (i): of < ﬁa% (This inequality is strict because player 1 prefers, all

else equal, to not value activities.)

Condition (ii): o > 1 (This inequality is strict because player 1 prefers, all else

equal, to not value activities.)

Condition (k): £ <0

Case 2b: Interaction, initiated by player 1 only (z; = 1,2, = 0)
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Observe that there will be a profitable deviation to 25, = 1 if k < 0. There will not be

a profitable deviation to 2}, = 1 if k > 0. Therefore, it will be sufficient, after imposing

the condition £ > 0, to restrict attention to deviations by player 2 in which 2/, = 0. There

are three combinations to check.

1. 6, = (1,0)

2.

If the players follow these strategies, they receive: U; = 2 (Zi;) af —4gt5mas — k,

Uy =2 (2—3)2 al—4 (5:21)2 3. In order for this to be an equilibrium, there cannot be

any profitable deviations. There are seven deviations we need to check.

(i) Player 1 deviates to 0] = (0,1), z} = 1: yields U] = %(L“)inax(af, 1) —

n—+2
2 n+1 2 k.

n+2)2 X2
(ii) Player 1 deviates to 6] = (0,0), 2} = 1: yields U] = ; (n—+§)2 af — 28505 — k.
(iii) Player 1 deviates to 6} = (1,0), | = 0: yields U] = 1 (Z—TF;)Q af — 2085505
5 (553)°

/

(v) Player 1 deviates to ¢, =

(
(
(iv) Player 1 deviates to 0] = (
(
(
(

(vi) Player 2 deviates to 6, = (0, 1), 24, = 0: yields U} = 3 (Z—TF;)Q aj — 285m0
(vii) Player 2 deviates to ¢ = (0,0), 2, = 0: yields U} = } (Z—TF;)Q aj — 285m0

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (1) to be an equilibrium, but

only conditions (i), (ii), (iii), and (iv) are binding;:

Condition (i): o? Z + = +1 o3

Condition (ii): o} > 3 ‘il)az (This inequality is strict because player 1 prefers, all

else equal, to not value activities.)

Condition (ii): k < (21)* [3a? — -2;a]]

Condition (iv): k < ("““1) (20f — § — ~503)

Condition (k): £ > 0

81 — (0, 1)
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2} = 1. So, assume of < 1. If the players follow these strategies, U; = 3 ("—“)2
ntsa3 — k. If player 1 deviates to 0 = (0,1), ) = 0, this yields: U] = 3

22 2
So, there is always a profitable deviation. Thus, (2) is never an equilibrium.

3. 6, = (0,0)

If the players follow these strategies, U; = 1 (Z—jg)Z a? — (gle)Q

1 deviates to 0; = (1,0), 24 = 1, this yields: U] = 2 (Z—i;)Qoﬁ — 25mas — k.
2

This is a profitable deviation if 2(n + 1)af > a}. Suppose this is not a profitable
deviation: 3(n + 1)a? < o3. If player 1 instead deviates to 8] = (0,0), z} = 0, this

yields: U = 0. This is a profitable deviation if ;%55 (3(n + 1)ai — a3) < k. Since

3(n+1)of < o, it follows that 3(n + 1)of — a3 < 0. And, since k& > 0, it must be

true that ;255 (5(n + 1)af — a3) < k. Hence, 0} = (0,0), z; = 0 must indeed be a

profitable deviation. So, it follows that at least one of the two deviations will be

a3 — k. If player

profitable. So, no equilibrium exists with 6, = (0, 0).
Case 2c: Interaction, initiated by player 2 only (v, = 0,25 = 1)

Observe that there will be a profitable deviation to 2} = 1 if £ < 0. There will not be
a profitable deviation to 7 = 1 if k > 0. Therefore, it will be sufficient, after imposing
the condition k > 0, to restrict attention to deviations by player 1 in which 2} = 0. There

are three combinations to check.

1. 6, = (1,0)
If the players follow these strategies, they receive: U; = 2 (Z—E)Q = dpas,
Uy, = 2 (Z—I;)Q al — 4(:;51)2&% — k. In order for this to be an equilibrium, there

cannot be any profitable deviations. There are seven deviations we need to check.

(i) Player 1 deviates to 6, = (0,1), #4 = 0: yields U] = 1 (2)*max(a?,1) —

n+2
2 (7f:21)2 ajs.
(ii) Player 1 deviates to #; = (0,0), 2} = 0: yields U] = 3 (n—é)Z af = 2085m05
(iii) Player 2 deviates to 0, = (0, 1),z = 1: yields U; = 1 (n—i;)z a3 — 28550t — k
(iv) Player 2 deviates to ¢, = (0,0), 4, = 1: yields U} = 4 (2—1“5)2 a3 —2maf — k.
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(v) Player 2 deviates to 65, = (1,0), 25 = 0: yields U} =

(vi) Player 2 deviates to ¢, = (0,1), 2, = 0: yields U; =
(vii) Player 2 deviates to ¢}, = (0,0), 2}, = 0: yields U; = 0.

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (1) to be an equilibrium, but

only conditions (i), (ii), (v), and (vi) are binding:
Condition (i): o? 2 + L +1 ol

Condition (ii): of > o3 (This inequality is strict because player 1 prefers, all

3(n+1) +1)
else equal, to not value activities.)

Condition (v): k < (”“) (303 — 2507)

Condition (vi): k < (”“) (205 — 5 — 75a1)

Condition (k): &k > 0

. 91 = (0,1)

If o > 1, there will always be a profitable deviation for player 1 to 6] = (0,0),

) = 0. So,assume a? < 1. If the players follow these strategies, Uy = 1 (%£1)* a2—

n+2
5z — k. 1f player 2 deviates to 6 = (1,0), a5 = 0, this yields: Uj = ; (;L—E)Q a2,
which is always profitable. So, equilibria of this type never exist.
. 81 = (0, O)
If players follow these strategies, Uy = % (Z—E)z a2 — (:j;)gozz, Uy =1 (Z—I;)Q a? —
n+1

RS ai — k. In order for this to be an equilibrium, there cannot be any profitable

deviations. There are seven deviations we need to check.

(i) Player 1 deviates to #; = (1,0), 2} = 1: yields U] = 2 (% 2)2 af — 285505,

(ii) Player 1 deviates to ¢, = (0,1), 2} = 1: yields U] = %(L“)zmax(al, 1) —

+2
(7?:21)20‘3
(iii) Player 2 deviates to 6, = (0,1), 4, = 1: yields Uj = 1 (Z—E)Q — k.

(iv) Player 2 deviates to ¢, = (0,0), 2, = 1: yields U = —k.

(v) Player 2 deviates to 8, = (1,0), =}, = 0: yields U} = 1 (Z—E)Q a3 — gl
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(vi) Player 2 deviates to 6, = (0, 1), 24, = 0: yields Uj = 3 ("—“)2

n—+2

(vii) Player 2 deviates to ), = (0,0), 2, = 0: yields U} = 0.

Observe that (3) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (3) to be an equilibrium, but

only conditions (i), (ii), (v), and (vi) are binding:

Condition (i): of < a3 (This inequality is strict because player 1 prefers, all

3(n +1
else equal, to not value activities.)

Condition (ii): o7 > 1 (This inequality is strict because player 1 prefers, all else

equal, to not value activities.)
Condition (v): £ <0

If this condition is combined with condition (k), stated below, we see that we must
have k£ = 0.

Condition (vi): (2—3)2 (%a% —La2-L>k

Or, using the fact that we must have k = 0, this can be rewritten as: a3 > —ozl +1

Condition (k): £ > 0

Case 2: Combined

If we combine Cases 2a, 2b, and 2c we find the following.

1. An equilibrium with #; = 6, = (1, 0) and interaction between the players exists if:

(1) al Z oA n+1

.o 4 2
(11) Oél > WQQ

(iii) k <Oork >0,k < (25 §a§—io€,andk§ nt1)? 202 — 1 — 442).
2 n+1 n+2

Since (ZE) (303 — 2507) > 0 and (”“)2 (205 — 3 — ~5ai) > 0, condition (iii)
n+l 3 9 2 7

can be restated as: k < (23] J03 — 2507, 205 —

)mln( % ntl

2. An equilibrium with 6; = (0,1), 6§, = (1,0) and interaction between the players

exists if:
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i) of <1+
(i) o? <1

(i) k<0

3. An equilibrium with 6; = (0,0), 6, = (1,0) and interaction between the players
exists if:

(i) £ <0
Additional combinations to consider:

In order to complete the proof, we also need to show that no equilibria exist in which

player 2 is not a scholar. There are twelve cases we need to consider.

1. 6, = (1,0), 62 = (0,1) and no interaction (x; = x5 = 0)

If both players follow these strategies, Uy = 1 ("*1) If player 2 deviates to 05 =

(1,0), 24 = 0, this yields % (”—H)2 a2 — ”“Qa% This deviation is profitable if

(n+2)
1 < a2— n%lozf. Since a» > «y, a sufficient condition for this deviation to be
profitable is 1 < a3 — +1a2, or +1a2 > 1, which is true by assumption.

2. 0 =(0,1), 0 = (0,1) and no interaction (x; = x5 = 0)

If both players follow these strategies, U, = 3 (Z—j:;) — oy I player 2 deviates to
0, = (1,0), 24 = 0, this yields 3 (Z—:[;f a3. This deviation is profitable if a3 > "=,

which is true by assumption.

3. 6, =1(0,0), 6, = (0,1) and no interaction (z; = xo = 0)

2
wi2)

(1,0), 24 = 0, this yields 3 (”—“) a3, which is always profitable.

If both players follow these strategies, Us = 1 ( . If player 2 deviates to 0, =
4. 0, = (1,0), 63 = (0,0) and no interaction (z; = xo = 0)
If both players follow these strategies, U, = 0. If player 2 deviates to 6, = (0,1),

%, = 0, this yields 3 (”jg) which is always profitable.
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5.

10.

11.

6, = (0,1), 6, = (0,0) and no interaction (z; = z5 = 0)

If both players follow these strategies, U, = 0. If player 2 deviates to 6, = (1,0),

x} = 0, this yields 1 (£1)* a3, which is always profitable.

6, = (0,0), 6, = (0,0) and no interaction (z; = z5 = 0)

If both players follow these strategies, U, = 0. If player 2 deviates to ¢, = (1,0),

x} = 0, this yields 1 (£1)* a3, which is always profitable.

6, = (1,0), 6, = (0,1) and interaction (1 = 1 or z5 = 1)

n+1 2

If o} > 1. Then, if both players follow these strategies, U, = 3 (Zj:;) al— o +2)2a1
kzo. If player 2 deviates to 0, = (1,0), 2, = wy, this yields U =2 (Z—:[;) a? —

2p55 0t — kxa. This deviation is profitable if o > 5725

assumption, this will indeed be a profitable deviation. Now suppose o < 1.

)041 Since oy > oy by

Then, it is profitable for player 1 to deviate to ¢, = (0,0), 2} = x;. So, a profitable

deviation always exists.

6, =(0,1), 6, = (0,1) and interaction (1 = 1 or z5 = 1)

If both players follow these strategies, Uy = 2 (21)* — 4L gy, If player 2

n+2 (n+2)

deviates to 0, = (1,0), 2, = :1:2, this yields U} = 1 ("—i;) - 2(7:‘;“21)2 — kzy. This

deviation is profitable if a3 > which is true by assumptlon

Rt

¢, = (0,0), 6, = (0, 1) and interaction (z; = 1 or 25 = 1)

If both players follow these strategies, U; = (;‘—15)2 —

deviates to 0, = (0,1), 2} = xl, this yields U] = 2 ("H)2 — 2(&*21)2 — kx,. This

— kxq. If player 1

deviation is profitable if 3 > which is always true.

=g

0, = (1,0), 0, = (0,0) and interaction (z; = 1 or z5 = 1)

If both players follow these strategies, U, = % (Z—i;f a2 — (:j;z a2 — kxy. If player
2 deviates to 0, = (1,0), 2, = x, this yields U}, = 2 (”“) — 200G ad — ks,

This deviation is profitable if o3 > ai. Since as > oy by assumptlon this will

3(n+1) +1)
indeed be a profitable deviation.

0, = (0,1), 0, = (0,0) and interaction (1 = 1 or z5 = 1)
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If both players follow these strategies, U, = 1 (Z—E)Q - (:;51)2 — kaxo. If player 2
deviates to 65 = (1,0), 24, = w,, this yields U} = 1 (Z—ié)z a? — (3121)2 — kxo. This

deviation is profitable if a3 > 1, which is true by assumption.

12. 6, = (0,0), 6, = (0,0) and interaction (1 = 1 or x5 = 1)

If both players follow these strategies, U, = —kx,. If player 2 deviates to ¢, = (1,0),

hy = 19, this yields Uy = 5 (255

5 )2 a3 — kzo. This deviation is always profitable.

This establishes that no equilibria exist in which player 2 is not a scholar. This com-

pletes the proof. O

Proof of Proposition 3. Suppose as > a; and of < @;. We will characterize the equilibria

that exist as a function of a4, oy, k, and n.

It will be useful, in characterizing the equilibria, to use the same shorthand as we
used in the proof of Proposition 1. Once again, we will examine all combinations
of the following form to see, under what parameters, they are equilibria of the game:
{((01,21), (02, 22)) : 0; € {(1,0),(0,1),(0,0)},z; € {0,1}}. We will first examine combi-
nations in which player 1 is a musician (¢; = (0,1)). Later on, we will show that no

equilibria exist in which player 1 is not a musician.
Case 1: No interaction (z; = 25 = 0)

Since we assume player 1 is a musician (f; = (0, 1)), we will denote combinations by

player 2’s choice of #,. There are three combinations to check.

1. 6, = (0,1)
If the players follow these strategies, they receive: U; = 1 (z—ié)Q — ot Uz =
5 (253) g i2y7- In order for this to be an equilibrium, there cannot be any prof-

itable deviations. There are ten deviations we need to check.

(i) Player 1 deviates to 6] = (1,0), 2} = 0: yields U] = 3 (Z—E)Q o,

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = 0.
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(iii) Player 1 deviates to 6} = (0,1), 2} = 1: yields U] = 2 (T;)Q — 2t — k
(iv) Player 1 deviates to 6] = (1,0), 2} = 1: yields U] = 3 (n—E)Z — g — k
(v) Player 1 deviates to #; = (0,0), 2} = 1: yields U] = 3 (n—E)Z — g — k
(vi) Player 2 deviates to 6, = (1,0), 24, = 0: yields U} = 3 (n—E)Z as.

(vii) Player 2 deviates to 6}, = (0,0), 2, = 0: yields U} = 0.

(viii) Player 2 deviates to 6, = (0,1), 2, = 1: yields U} = 2 (Z—i;) — 2t — k.

(ix) Player 2 deviates to 6, = (1,0), 2, = 1: yields U} = %(”—“) max(a2, 1) —

n+2
n+1
(n+2)2 k.
(x) Player 2 deviates to 6, = (0,0), 24, = 1: yields U} = 3 (Z—j:;)z - (:j;)? — k.

Observe that (1) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (1) to be an equilibrium, but only

conditions (iii), (vi), and (ix) are binding;

Condition (iii): k > (3_3)2 (2--19)

Condition (vi): 21 > o3

Condition (ix): k > 1 (”—“)2 (a2 —1)

n—+2

We can combine conditions (iii) and (ix) as follows:

k> (222)" max (3~ Ay, 203 3) = Fo

.0 = (1,0)

If the players follow these strategies, they receive: U; = % (ng) JUa=1 (2—5)2 a3.
In order for this to be an equilibrium, there cannot be any profitable deviations.
There are ten deviations we need to check.

(i) Player 2 deviates to 6, = (0, 1), 25, = 0: yields U} = 3 (Z—:[;)z oy

(ii) Player 2 deviates to 6, = (0,0), 25, = 0: yields U} = 0.
(iii) Player 2 deviates to 6, = (1,0), 24, = 1: yields U} = 1 ("—“)Qmax(l,ag) -

n+2
n+1
(n-iJ-rQ — k.
(iv) Player 2 deviates to 6, = (0, 1), 24 = 1: yields Uy = 2 (25 ) — 2(7?:21) — k.
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/

(v) Player 2 deviates to 0} =

, b, = 1: yields U =

, ¢y = 0: yields U] =

/

0
(vi) Player 1 deviates to ¢; = (1,0
(vii) Player 1 deviates to 67 = (0,0

0

, ¢y = 0: yields U] = 0.
2

(

(

(
(viii) Player 1 deviates to 6] = (1,

(

(

, 7y = Liyields Uy = 2 (=5 22
(ix) Player 1 deviates to ¢ = (0,1), 2} = 1: yields U] = 3 (n—IQ)Z — oiapas — k
(x) Player 1 deviates to 6] = (0,0), 2} = 1: yields U] = 3 (n—E)Z af — oahpas — k

Observe that (2) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (2) to be an equilibrium, but only

conditions (i), (iii), (iv), and (viii) are binding:

Condition (i): o2 > 2=

i
Condition (iii): > (Z—jg)Q (—7)
Condition (iv): k£ > (Z—i;f (4 — 503)
2

Condition (viii): k£ > (%5)" (207 — 3 — ,3%%1)

We can combine conditions (iii), (iv), and (viii) as follows:

n+1)2 1 2 1,292 1 _ 203\ _ 7
k> (n+2) max( a5, 207 = ko

. 0, = (0,0)

If the players follow these strategies, U, = 0. If player 2 deviates to 0, = (1,0),

zf = 0, this yields: U} = 1 (Z—jg)z a3. So, there is always a profitable deviation.

Thus, (3) is never an equilibrium.

Case 2a: Interaction, initiated by both players (r; =z, = 1)

Observe that there will be a profitable deviation to z; = 0if £ > 0. If £ < 0, deviating

to z; = 0 is (weakly) unprofitable. Therefore, it will be sufficient, after imposing the

condition £ < 0, to restrict attention to deviations in which 2, = 1. There are three

combinations to check.

.y = (0,1)
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If the players follow these strategies, they receive: U; = 2 (Z—i;) - 4(:;“21)2 — k,

Uy =2 (Z—j:;) — 4455 — k. Inorder for this to be an equilibrium, there cannot be

any profitable deviations. There are four deviations we need to check.

(i) Player 1 deviates to 0] = (1,0), 2} = 1: yields U] = (”—1)2 —2. k.

1
2 \n+2 (n+2)2
(ii) Player 1 deviates to #; = (0,0), 2} = 1: yields U] = 3 (Z—f)Z — 2585 — k

2
(iii) Player 2 deviates to 65 = (1,0), 24, = 1: yields U} = (Z—“)Qmax(ag, 1) —

n+1
2(n+2 — k.

(iv) Player 2 deviates to 6, = (0,0), 25, = 1: yields U} = 1 (Z—:[;)z —2. k.

Observe that (1) will be an equilibrium if and only if (i) through (iv) are not prof-

itable deviations. Only condition (iii) is binding;:
Condition (iii): a5 < -7

Condition (k): £ <0

.0, = (1,0)

If a3 < 1, there will always be a profitable deviation for player 2 to 6, = (0,0),
zhy = 1. So we assume a3 > 1. If the players follow these strategies, they receive:

2 >
Up =3 (&5) - s —k, Uz = 5 (155)” a3 — ;457 — k- Inorder for this to be an

equilibrium, there cannot be any profitable deviations. There are four deviations

we need to check.

, 2y = 1: yields U] = 2(—1)20@—2 ntla2 —k.

(i) Player 1 deviates to ¢; = (1,0) = a0 —

(ii) Player 1 deviates to #; = (0,0), 2} = 1: yields U] = 3 (n—jr;)Q af — oubpas — k
(iii) Player 2 deviates to 0, = (0,1), 3 = 1: yields U = 2 (%)2 — 2(:%21 — k.
(iv) Player 2 deviates to 6, = (0,0), 25, = 1: yields U} = 3 (n—i;)z — o — k

Observe that (2) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations. This yields four conditions for (2) to be an equilibrium, but only
condition (iii) is binding:

Condition (iii): a3 > 4 — — +1

Condition (k): £ <0
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3. 6, = (0,0)

If the players2 follow these strategies, they receive: U; = 1 (Z—ié)z — (:Ll)g — k,
Us = 5 (255)" — g5 — k- 1f player 2 deviates to 0, = (0,1), 25 = 1, this yields
Uy =2 (Z—Ef — 24455 — k. This deviation is always profitable. So, this is never

an equilibrium.
Case 2b: Interaction, initiated by player 2 only (z; = 0,2, = 1)

Observe that there will be a profitable deviation to #} = 1 if £ < 0. There will not be
a profitable deviation to 7 = 1if k > 0. Therefore, it will be sufficient, after imposing
the condition k > 0, to restrict attention to deviations by player 1 in which 2} = 0. There
are three combinations to check.

1. 6, = (0,1)
If the players follow these strategies, they receive: U; = 2 (2—3)2 —Aphs U =
2 (2—15)2 — 4445 — k. In order for this to be an equilibrium, there cannot be any

profitable deviations. There are seven deviations we need to check.

(i) Player 1 deviates to 0] = (1,0), 2} = 0: yields U] = % (Z—I;)Q — 2—(:;“21)2-

(i) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = % (Z—I;)Q — 2—(:;“21)2-
(iii) Player 2 deviates to 65 = (1,0), 24, = 1: yields U} = (%)Qmax(ag, 1) —

n+1
2fup ~ W

(iv) Player 2 deviates to 6, = (0,0), 25, = 1: yields Uj = 3 (Z—j:;)z — 2% — k.

(v) Player 2 deviates to 6, = (0,1), 24, = 0: yields U} = 3 (Z—j:;)z — 2%.
(vi) Player 2 deviates to 6, = (1,0), 25, = 0: yields U} = 3 (Z—j:;)z a?
(vii) Player 2 deviates to &), = (0,0), 2, = 0: yields U; = 0.

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (1) to be an equilibrium, but

only conditions (iii), (v), and (vi) are binding:

Condition (iii): % > o3
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Condition (v): ( ) (E-2)>k

+1
Condition (vi): (“£))” (2 (221) — Lla2) >

L\DIr—I

Condition (k): &

2. 0, = (1,0)

If o3 < 1, there will always be a profitable deviation for player 2 to 6, = (0,0),

z}, = 1. So,assume o3 > 1. If the players follow these strategies, U, = 3 (Z—E)z o3

iy — k. 1f player 2 deviates to 0 = (1,0), 25 = 0, this yields: U; = 3 (;‘—E)Q al.

So, there is always a profitable deviation. Thus, (2) is never an equilibrium.

3. 6‘2 = (0, O)
If the players follow these strategies, U = 3 (Z—i;) - iz — k. If player 2 deviates
to 0, = (0,1), ¥, = 1, this yields: U} = 2 (”“) - 2(”;“21)2 — k. This is always a

profitable deviation. So, no equilibrium exists with 6, = (0, 0).
Case 2c: Interaction, initiated by player 1 only (z; = 1,2, = 0)

Observe that there will be a profitable deviation to 24, = 1 if £ < 0. There will not be
a profitable deviation to 25, = 1if £ > 0. Therefore, it will be sufficient, after imposing
the condition & > 0, to restrict attention to deviations by player 2 in which z, = 0. There

are three combinations to check.

1. 92 - (O, 1)
. . . _ n+1 n+1
’ . 1 = ) - 2 T My

If the players follow these strategies, they receive: U 2 (2 +2) dote — K
Uy =2( Z—I;) —4 (::21)2 In order for this to be an equilibrium, there cannot be any
profitable deviations. There are seven deviations we need to check.

(i) Player 1 deviates to 6] = (1,0), 2} = 1: yields U] = 3 (%)2 — 2255 — k.

(ii) Player 1 deviates to 6] = (0,0), } = 1: yields U] = 1 (Z—:[;)Z — 20 —k
(iii) Player 1 deviates to 6} = (0,1), | = 0: yields U] = 1 (2—5)2 — 25
(iv) Player 1 deviates to 6] = (1,0), 2} = 0: yields U] = 3 (%)2 o,

(v) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] = 0.
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(vi) Player 2 deviates to 6, = (1,0), 3, = 0: yields Uj = %(L“)inax(ag, 1) —

n+2
n+1
2l
(vii) Player 2 deviates to ¢ = (0,0), , = 0: yields U} = 1 (Z—E) — 225

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations. This yields seven conditions for (1) to be an equilibrium, but

only conditions (iii), (iv), and (vi) are binding:

Condition (iii): k < (21)* (2 — 2.)

n+2 2 n+1
Condition (iv): k < (;1—1;)2 (2 (21) — 1a?)
Condition (vi): % > a3

Condition (k): £ > 0

2. 92 - (1,0)

If a3 < 1, there will always be a profitable deviation for player 2 to 65 = (0,0),

2, = 0. So, assume o3 > 1. If the players follow these strategies, U; = 3 (—
_ 1
2

(7?;1)2042 — k. If player 1 deviates to §; = (0,1), 2} = 0, this yields: U]

which is always profitable. So, equilibria of this type never exist.

3. 6, = (0,0)
If players follow these strategies, U, = 3 (Z—E)Q — i 1f player 2 deviates to
0y = (0,1), 2, = 0, this yields: U} = 2 (—1)2 — 24455, which is always profitable.

So, equilibria of this type never exist.

Case 2: Combined

If we combine Cases 2a, 2b, and 2c we find the following.

1. An equilibrium with 6; = 6, = (0, 1) and interaction between the players exists if:

4
(1) < n+n1

N2 L
iy = (2 min (3 22 () — o)
2. An equilibrium with 6, = (0,1), #2 = (1,0) and interaction between the players

exists if:
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N2 2
@) 04224—n—+1

(i) £ <0
Additional combinations to consider:

In order to complete the proof, we also need to show that no equilibria exist in which

player 1 is not a musician. There are twelve cases we need to consider.

1. 6, = (1,0), 6, = (1,0) and no interaction (z; = z5 = 0)

If both players follow these strategies, U; = 3 (Z—j:;)z — oigpas. If player 1
deviates to 0] = (0,1), z{ = 0, this yields 1 (21—15)2 This deviation is profitable
if 3 (Z—Q)Q a? — (::21)2@ <3 (2—3)2 Since a; < ay, a sufficient condition for this
deviation to be profitable is 3 (Z—E)Q af — ppad < 3 (Z—i;)z, or (n—1)a2 <n+1.

This holds by assumption.

2. 0, =(1,0), 0, = (0,1) and no interaction (x; = x5 = 0)

If both players follow these strategies, U; = 1 (%£1)’a2 and U, = L (2£1)*. If

2 \n+2 2 \n+2
player 1 deviates to 6; = (0, 1), 2} = 0, this yields % (Z—i;)z — - This deviation
is profitable if =4 > af, which is true by assumption.

3. 6, =(1,0), 6, = (0,0) and no interaction (z; = x5 = 0)

If both players follow these strategies, U, = 0. If player 2 deviates to 6, = (0,1),

fy, = 0, this yields 3 (Z—jg)Z , which is always profitable.

4. 0, =(0,0), 03 = (1,0) and no interaction (z; = x5 = 0)
If both players follow these strategies, U; = 0. If player 1 deviates to ¢; = (0, 1),

2 = 0, this yields 3 (Z—g)z , which is always profitable.

5. 6, =(0,0), 65 = (0,1) and no interaction (z; = x5 = 0)

If both players follow these strategies, U; = 0. If player 1 deviates to ¢; = (1,0),

2} = 0, this yields 3 (2—3)2 o3, which is always profitable.

6. 6, = (0,0), 6, = (0,0) and no interaction (z; = x5 = 0)

If both players follow these strategies, U; = 0. If player 1 deviates to ¢; = (0, 1),

x = 0, this yields 1 (%£1)* which is always profitable.
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7. 01 =(1,0), 0, = (1,0) and interaction (1 = 1 or z5 = 1)

If both players follow these strategies Uy =2 (Zi;) a2 — 4( s — k. If player

1 deviates to ¢ = (0, 1), 2} = w1, this ylelds U =1 (n—IQ) — 20503 — kay. This

. Since oy > o, a sufficient condition for

4
n+1

deviation is profitable if 1 > 4ai — —qo

the deviation to be profitable is that 1 > 4a1 —ai, ordn xai < n+1. Thisis

true by assumption.

8. 6, =(1,0), 6, = (0,1) and interaction (z; = 1 or x5 = 1)

If both players follow these strategies, U; = 3 (Z—i;)Z — a5

deviates to 0} = (0,1), ¥} = x, this yields U] = 2 (Z—E)Q — 255 — ki This

— kxq. If player 1

deviation is always profitable.

9. 0, = (1,0), 5 = (0,0) and interaction (z; = 1 or z5 = 1)

If both players follow these strategies, U; = 3 (Z—E)Q af — b as — kay. If player

1 deviates to 6] = (0, 1), 2} = x4, this yields U] = 1 (215)2 — k1. This deviation is
2

PREY . Since a2 > a?, a sufficient condition for the deviation

to be profitable is 1 > a? — nil

profitable if 1 > af —

o?,or 1 > 2=1a?. This is true by assumption.

n+1

10. 6; = (0,0), 6, = (1,0) and interaction (1 = 1 or z5 = 1)

If both players follow these strategies, U; = 5 (ZI;

1 deviates to 0 = (0,1), 2} = 1, this yields U] = 3 (Z_E) — oiad — k. This

deviation is profitable if o? < 1, which is true by assumption.
p 1 y p

)a% (77:212042 kxz,. If player

11. 6, = (0,0), 6, = (0,1) and interaction (z; = 1 or x5 = 1)

If both players follow these strategies, U; = (Z—E)Q — i — k. If player 1

deviates to 0, = (0,1), 2} = xl, this yields U] = ("+1)2 — 20257 — kxy. This

deviation is profitable if 3 > which is always true.

+1'
12. 6, = (0,0), 63 = (0,0) and interaction (x; = 1 or x5 = 1)

If both players follow these strategies, Uy = —kx;. If player 1 deviates to §; = (0, 1),

n+1

- +2)2 — kx;. This deviation is always profitable.

z) = zy, this yields U] = 1 (

This establishes that no equilibria exist in which player 1 is not a musician. This

completes the proof. O
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Proof of Proposition 4. Suppose as > a3, and ay > aq,ay > ar. We will characterize the

equilibria that exist as a function of a4, o, k, and n.

It will be useful, in characterizing the equilibria, to use the same shorthand as we
used in the proof of Proposition 1. Once again, we will examine all combinations

of the following form to see, under what parameters, they are equilibria of the game:
{((917:[1)’ (927$2)) 10; € {(17 O)v (O’ 1)7 (07 0)},$1 S {07 1}}

Case 1: No interaction (z; = 25 = 0)

There are nine types of combinations to check. We will consider each in turn.

1. 6, =6, = (1,0)

If the players follow these strategies, they receive: U; = (Z—JS)Q af — s,
Uy = % (Z—jr;) 2 al — (T’ZJS)Q 3. In order for this to be an equilibrium, there cannot be

any profitable deviations. There are ten deviations we need to check.

(i) Player 1 deviates to 6] = (0, 1), 2 = 0: yields U] = % (”—“)2 .
(ii) Player 1 deviates to §; = (0,0), z} = 0: yields U] = 0.

(iii) Player 1 deviates to ¢} = (1,0), 2}, = 1: yields U] = 2 (%)2 al — 2(:j2l)ga§ — k.

(iv) Player 1 deviates to ¢ = (0,1), 2} = 1: yields U] = 1 (2£})*max(a3,1) —
(::21)2 aZ — k.

(v) Player 1 deviates to ¢; = (0,0) and z} = 1: yields U] = 1 (Z—I;)z o — (77:21)2043 —

k.

. . ’ ’ . ’ n 2
(vi) Player 2 deviates to 6 = (0, 1), 24 = 0: yields Uy = 5 (%55)".

(vii) Player 2 deviates to ¢, = (0,0), 2}, = 0: yields U} = 0.

(viii) Player 2 deviates to ), = (1,0), ), = 1: yields U} = 2 (%)2 af — 208550t — k.

(ix) Player 2 deviates to 0, = (0,1), 2, = 1: yields U} = %(”—“)%max(oz2 1) —

n+2 27
(x) Player 2 deviates to 6, = (0,0) and z, = 1: yields U; = 1 (Z—E)Q a3 — el —

k.
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Observe that (1) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (1) to be an equilibrium, but only

conditions (i), (iv), and (Viii) are binding:
Condition (i): ozl > 1+ -5

Condition (iv): k > 1 (;‘—i;) (1 —a?)

Condition (viii): £ > (”*1) (303 — 7507)

If we combine conditions (iv) and (viii), we obtain:

2
k= () max(3ad — Zigad, 5 - 30d) = b

. 01 =1(1,0),6, =(0,1)

If the players follow these strategies, they receive: U; = 5 (23]) 202Uy = 4 (Z—j:;)2 :

In order for this to be an equilibrium, there cannot be any profitable deviations.
There are ten deviations we need to check.

(i) Player 1 deviates to 6] = (0, 1), 2, = 0: yields U] = 2 (fL—E)Q — a5

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] =0

(iii) Player 1 deviates to #; = (1,0), 2} = 1: yields U] = } (Z—“)Zmax(a%, 1) —

2
(::21)2 —k
(iv) Player 1 deviates to ¢ = (0, 1), 2} = 1: yields U] = 2 (%) — 25—k
(v) Player 1 deviates to #; = (0,0) and | = 1: yields U] = § (”—jrr;)2 — ek
(vi) Player 2 deviates to 6, = (1,0), 24, = 0: yields Uj = 3 (;‘—+§)2 R L
(vii) Player 2 deviates to ¢, = (0,0), ), = 0: yields U; = 0
(viii) Player 2 deviates to 6, = (0,1), 24, = 1: yields U} = 1 (Z—E)Qmax(a%, 1) —
(5:21)2 af —k
(ix) Player 2 deviates to 6 = (1,0), %, = 1: yields Uj = 2 (245 2)2 —2mal — k
(x) Player 2 deviates to 0, = (0,0) and z}, = 1: yields Uj = § (%5 ) a3 — el —k

Observe that (2) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (2) to be an equilibrium, but only

conditions (i), (iii), (iv), (vi), and (ix) are binding;:
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Condition (i): of > —

Condition (iii): k > — (2£1)% (1)

Condition (iv): k¥ > (Zié) (2 — La3)

Condition (vi): af > 2 (o3 — 1)

Condition (ix): & > (”“) (2% — nila% _ %)

If we combine conditions (iii), (vi), and (ix), we obtain:

n+1Y)2 2n 2 2 1 7
kz(mz) max (-5 304,205 — Aot — 2’n+1) ks

3. 6, =(1,0),6, = (0,0)
If the players follow these strategies, U, = 0. If player 2 deviates to ¢, = (0, 1),

x4y = 0, this yields: Uj = ("i;) . So, there is always a profitable deviation. Thus,

(3) is never an equilibrium.

4.0, =6, =(0,1)

If the players follow these strategies, U; = Us = 3 (Z—E)Q — ﬁ In order for

this to be an equilibrium, there cannot be any profitable deviations. There are ten

deviations we need to check.
(i) Player 1 deviates to 8] = (1,0), 2} = 0: yields U] =

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] =0

(iii) Player 1 deviates to #; = (1,0), 2} = 1: yields U] = (”—“)Qmax(af, 1) —

n+2
(::21 —k
(iv) Player 1 deviates to ¢; = (0,1), 2} = 1: ylelds U =2 (%) — 2 — k
(v) Player 1 deviates to 6] = (0,0) and 2} = 1: yields U] = } (%)2 — g — k
(vi) Player 2 deviates to 6, = (1,0), 24, = 0: yields Uj = 3 (n—Jré)2 o2
(vii) Player 2 deviates to ¢}, = (0,0), 2, = 0: yields U; = 0
(viii) Player 2 deviates to 8, = (0,1), 2}, = 1: yields U} = 2 (2 2)2 — 2 — k
(ix) Player 2 deviates to 0, = (1,0), 2}, = 1: yields U} = 3 (Z—i;fmax(a%, 1) —
n+l k
e
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(x) Player 2 deviates to 6}, = (0,0) and 2, = 1: yields U} = 1 (21)* — ntl
y 2 2 y 2= 3

n+2 (n+2)2

Observe that (4) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (4) to be an equilibrium, but only

conditions (iv/viii) and (vi) are binding;

Condition (iv/viid): k > (2£))* (2 - -13) = &

Condition (vi): a3 < "

60, =(0,1),6, = (1,0)

If the players follow these strategies, U; = 1 (Z—i;)Q Uy =1 (Z—:[;)z 3.

In order for this to be an equilibrium, there cannot be any profitable deviations.
There are ten deviations we need to check.

(i) Player 1 deviates to 6] = (1,0), 2 = 0: yields U] = 3 (Z—E)Q af — G

(ii) Player 1 deviates to 6] = (0,0), 2} = 0: yields U] =0

(iii) Player 1 deviates to 0] = (1,0), 2, = 1: yields U] = 2 (Z—E)Q af —2p85ma5 — k

(iv) Player 1 deviates to 0, = (0,1), 2} = 1: yields U] = %(L“)inax(a%, 1) —

n+2
(:jzl)ﬂg —k
(v) Player 1 deviates to §; = (0,0) and 2} = 1: yields U] = 3 (;’“—15)2 af— a3 —k

(vi) Player 2 deviates to 6, = (0, 1), 24, = 0: yields Uj = 3 (Z—ié)z — a5

(vii) Player 2 deviates to ¢}, = (0,0), 2, = 0: yields U; = 0

(viii) Player 2 deviates to 6, = (0,1), x4, = 1: yields U} = 2 (;‘—ié)z — 2 — k

(ix) Player 2 deviates to 0, = (1,0), 2, = 1: yields U} = 2 (2:1)* max(a2,1) —
y 2 2 y 2 ) 2

n+2
n+1
furz K
(x) Player 2 deviates to 6, = (0,0) and z, = 1: yields U} = 1 (Z—E)Q — o =k

Observe that (5) will be an equilibrium if and only if (i) through (x) are not prof-
itable deviations. This yields ten conditions for (5) to be an equilibrium, but only

conditions (i), (iii), (v), (vi), (viii), and (ix) are binding:

Condition (i): o <1+ %Hozg
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Condition (iii): k& > (2_3)2 (202 — 203 — 1)

n+1 2
Condition (v): k > (Z—E)Q (307 — =503 — §) = kq (this inequality is strict because

players prefer, all else equal, not to value activities)

Condition (vi): a3 > 271

Condition (viii): k > () (22 — 1a2)

n+2 n+1 2
Condition (ix): k > — (2£1) (1)
If we combine conditions (iii), (viii), and (ix), we obtain:
+1)2 2 1.2 2 2 2 1 —-1\_T.
k2> (f) max (7 — 303,207 — 3703 — 5, 597) = ks

6. 6, = (0,1),0, = (0,0)

If the players follow these strategies, U, = 0. If player 2 deviates to 6, = (1,0),
zf, = 0, this yields: Uj = 1 (2—3)2 a3. So, there is always a profitable deviation.

Thus, (6) is never an equilibrium.

7. 01 - (0,0),(92 - (1,0)

If the players follow these strategies, U; = 0. If player 1 deviates to #; = (0,1),

) = 0, this yields: U] = 1 (%)2 So, there is always a profitable deviation. Thus,

(7) is never an equilibrium.
8. 91 = (an)a‘92 = (07 1)
If the players follow these strategies, U; = 0. If player 1 deviates to 0} = (1,0),

z} = 0, this yields: U] = 4 (2—3)2 a?. So, there is always a profitable deviation.

Thus, (8) is never an equilibrium.

9. 91 - 092 - (0,0)
If the players follow these strategies, U; = 0. If player 1 deviates to 6] = (1,0),

z} = 0, this yields: U] = § (2—3)2 of. So, there is always a profitable deviation.

Thus, (9) is never an equilibrium.

Case 2a: Interaction, initiated by both players (v; = z2 = 1)
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Observe that there will be a profitable deviation to z; = 0if £ > 0. If £ < 0, deviating
to z; = 0 is (weakly) unprofitable. Therefore, it will be sufficient, after imposing the

condition k < 0, to restrict attention to deviations in which z = 1.
There are nine types of combinations to check.

1. 6, =6, = (1,0)

If the players follow these strategies, they receive: U; = 2 (Z—E)Z af —4gt5mas — k,

Uy =2 (24) 2024 ( "j21)2 o} —k. In order for this to be an equilibrium, there cannot

be any profitable deviations. There are four deviations we need to check.

(i) Player 1 deviates to 8§, = (0,1), 2} = 1: yields U] = %("—“)%nax(a%, 1) —

n+2
nt1 2
25592 % k.

(ii) Player 1 deviates to 6] = (0,0), 2} = 1: yields U] = } (Z—ié)? af — 28505 — k.

(iii) Player 2 deviates to 65 = (0,1), 24, = 1: yields U} = (Z—i;)Qmax(ag, 1) —
2(1?:21)2(1% — k.

(iv) Player 2 deviates to 65 = (0,0), =5, = 1: yields U; = 1 (2—3)2 —2mal — k.

Observe that (1) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations and k£ < 0. Only conditions (i) and (ii) are binding;:

Condition (i): o > § + —a2 Observe that this condition fails to hold when
n = 0.
Condition (ii): o3 >

3(n ) 3 (this inequality is strict because players prefer not to

value activities, all else equal).

Condition (k): £ <0

2. 0, = (1,0),0, = (0,1)

There will be a profitable deviation for player 1 to 6] = (0,0), } = 1if o] < 1.
There will be a profitable deviation for player 2 to 65 = (0,0), 25, = 1if a3 > 1. So,
we must have: of > 1 and o3 < 1. But, this is not possible given that a3 > of.

Thus, this combination will never be an equilibrium.
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3. 6, = (1,0), 0, = (0,0)

If the players follow these strategies, U, = & (21)% a3 — 202 — k. 1If player 2

n+2 (n+2)
deviates to 0, = (1,0), =}, = 1, this yields: U} = 2 (”“)2 — 28501 — k, which
is profitable whenever 2 Ja5 > -~ +1a1 (which always holds). Thus, (3) is never an
equilibrium.
. 91 :92: (O,l)

If the players follow these strategies, they receive: Uy = Uy = 2 (ng) —4 (::21 —k.

In order for this to be an equilibrium, there cannot be any profitable deviations.

There are four deviations we need to check.

(i) Player 1 deviates to 0] = (1,0), z} = 1: yields U] = %(”—“)Qmax(af, 1) —

n+2
n+l
2 (n+2)? k.

(ii) Player 1 deviates to 6] = (0,0), 2} = 1: yields U] =

2
(iii) Player 2 deviates to 6, = (1,0), 2, = 1: yields U} = %(2—“) max(aQ,l) —

2
n+1
2(nj2 — k.
(iv) Player 2 deviates to 6, = (0,0), 24, = 1: yields U} = 3 (Z—i;) — 2(7_7;31) — k.

Observe that (4) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations and k£ < 0. Only condition (iii) is binding:

Condition (iii): % > a3. Observe that this condition does not hold when n = 0.

Condition (k): £ <0

.01 = (0,1),0, = (1,0)

There will be a profitable deviation for player 1 to 6] = (0,0), } = 1if o > 1.
There will be a profitable deviation for player 2 to 6, = (0,0), 25, = 1if a3 < 1. So,
we will assume for what follows that o < 1and o3 > 1. If the players follow these
strategies, they receive: U; = 3 (Z—S)Q — a3 — k,Us = 5 (Z—S)Z a5 — oy — k.
In order for this to be an equilibrium, there cannot be any profitable deviations.
There are four deviations we need to check.

(i) Player 1 deviates to 0] = (1,0), 2, = 1: yields U} = 2 (Z—JS)Q — 20508 — k.

80



(ii) Player 1 deviates to 6] = (0,0), } = 1: yields U] = 3 (—1)2 af — b as — k.

n+2
(iii) Player 2 deviates to 0, = (0,1), 2}, = 1: yields U} = 2 (Té)Q — 2085 — k.
(iv) Player 2 deviates to 6, = (0,0), 24, = 1: yields U} = 3 (n—ié)z — oz — k.

Observe that (5) will be an equilibrium if and only if (i) through (iv) are not prof-
itable deviations and £ < 0. Only conditions (i), (ii), and (iii) are binding;:

Condition (i): a2 > (n + 1) (204% _ %)
Condition (ii): 1 > o?

Condition (iii): a3 > 4”+2 Observe that this condition is violated when n > 2.

Condition (k): £ <0

. Ql — (0, 1),02 - (0,0)

If the players follow these strategies, U, = 3 (21 ) ?_ il k. If player 2 deviates

n+2 (n+2)2
to 0, = (0,1), 2, = 1, this yields: Uj = 2 (”*1) - 2<”:21)2 k, which is always
profitable. Thus, (6) is never an equilibrium.
. 01 =(0,0),60, = (1,0)
If the players follow these strategies: U; = % (Z:[;) a3 —k, Us = 3 (Zi;) as—

(:jzl)z a? — k. In order for this to be an equilibrium, there cannot be any profitable

deviations. There are four deviations we need to check.

(i) Player 1 deviates to ¢} = (1,0), 2} = 1: yields U] = 2 (;‘—ié)z af — 20 — k.

(ii) Player 1 deviates to @, = (0,1), , = 1: yields U/ = 1 (1)’ max(a2,1) —
y 1 1 y 1 ) 1

n+2
(::21)2 a; — k.
(iii) Player 2 deviates to 85 = (0,1), 2, = 1: yields U; = 1 (Z—i;)Q — k.

(iv) Player 2 deviates to ¢}, = (0,0), 2}, = 1: yields U} = —k.

Observe that (7) will be an equilibrium if and only if (i) through (iv) are not prof-

itable deviations and £ < 0. This gives us the following conditions:

Condition (i): a3 > 3(n + 1)a}
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Condition (ii): o? > 1. Observe that the combination of conditions (i) and (ii) are

violated for n > 2.
Condition (iii): a5 > 1+ 270}
Condition (k): £ <0

8. 6, =(0,0),0, = (0,1)

If the players follow these strategies, U; = 3 (”—“)2 — o — k. If player 1 deviates

n+2 n+2)2
to 0, = (0,1), 2y = 1, this yields: U] = 2 (Z—:[;) — 2555 — k, which is always

profitable. Thus, (8) is never an equilibrium.

9. 0, = 6, = (0,0)

If the players follow these strategies, U; = —k. If player 1 deviates to ¢, = (0,1),
2y = 1, this yields: U] =  ( %)2 — k, which is always profitable. Thus, (9) is never

an equilibrium.
Case 2b: Interaction, initiated by player 1 only (z; = 1,2, = 0)

Observe that there will be a profitable deviation to «}, = 1 if £ < 0. There will not be
a profitable deviation to z, = 1if k > 0. Therefore, it will be sufficient, after imposing

the condition k£ > 0, to restrict attention to deviations in which 2/, = 0.

It is useful to observe that, if a particular (6;, 62) combination was never an equilib-
rium in Case 2a, it will never be an equilibrium in Case 2b. The reason is that there will
be an equivalent profitable deviation in Case 2b to the one that existed in Case 2a. For

this reason, there are only four types of (;,6,) combinations that need to be checked:

1. 6, =6, = (1,0)

2
n+1) 2 4ntl_ n+1 2 ]C,

If the players follow these strategies, they receive: Uy = 2 (25)" af — ez —
Uy=2 (2—3)2 al—4 (7?:21)2 3. In order for this to be an equilibrium, there cannot be

any profitable deviations. There are seven types of deviations we need to check.

(i) Player 1 deviates to 8, = (0,1), 2} = 1: yields U] = %("—“)Qmax(af, 1) —

n+2
nt1 2
2502 — k.
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(ii) Player 1 deviates to 6] = (0,0), 2} = 1: yields U] = § (Z—Q)Q af — 28505 — k.
(iii) Player 1 deviates to 8} = (1,0), ) = 0: yields U] = 1 (Z—ié)z af — 28503
(iv) Player 1 deviates to 6] = (0, 1), 2} = 0: yields U] = 3 (Z—é)z
(v) Player 1 deviates to 8] = (0,0), 2} = 0: yields U] = 0.

(vi) Player 2 deviates to 05, = (0,1), z4, = 0: yields Uj = 1 (%)Qmax(ag, 1) —
2(7;11'21)2 al.
(vii) Player 2 deviates to 65 = (0,0), 4 = 0: yields Uj = 1 (;‘—E)Q a3 — 2585507,

Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations and k£ > 0. Only conditions (i), (ii), (iii), and (iv) are binding:
Condition (i): of > ; + —703

_4
3(n+1)

Condition (i): (2)” (307 — -2;03) > k

Condition (ii): o? > a3. Observe that this condition fails when n = 0.

Condition (iv): (Z—j:;)Q (20f — a3 —3) >k

Condition (k): £ > 0

0 =0, =(0,1)

If the players follow these strategies, they receive: U; = 2 (Z—E)Q - 4(7:‘;“21)2 — k,

Uy =2 ( %)2 —4 (::21)2 . In order for this to be an equilibrium, there cannot be any

profitable deviations. There are seven types of deviations we need to check.

(i) Player 1 deviates to ¢, = (1,0), 2, = 1: yields U/ = % (%)’ max(a2,1) —
y 1 1 y 1 2

n+2 1
2 nt+l k
(n+2)2 :
(ii) Player 1 deviates to 6] = (0,0), ) = 1: yields U] = 1 (2—5)2 — 2025, — k.
(iii) Player 1 deviates to 8} = (1,0), z} = 0: yields U] = 1 (Z—i;)Q o?
(iv) Player 1 deviates to 6] = (0, 1), 2} = 0: yields U; = % (2—5)2 — 20255
v) Player 1 deviates to 7 = (0,0), 2} = 0: yields U; = 0.
y 1 1 y 1

(vi) Player 2 deviates to ¢, = (1,0), , = 0: yields U; = %(Z—“)Qmax(a2 1) —

n+1
2 CEER
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(vii) Player 2 deviates to 6 = (0,0), 4 = 0: yields U} = 3 (”—“) — 2.l

n+2 (n+2)2°

Observe that (2) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations and £ > 0. Only conditions (iii), (iv), and (vi) are binding:

Condition (ii): (21)” (2 (1) — La2) > k

n+1

Condition (iv): (ZE) (3-27)>k

Condition (vi): 4” > 3. Observe that this condition is violated when n = 0.

Condition (k): £ > 0

L0 = (07 1)762 = (170)

There will be a profitable deviation for player 1 to 6] = (0,0), 2} = z; if o > 1.
There will be a profitable deviation for player 2 to 6, = (0,0), o, = x5 if a3 < 1.
So, we will assume for what follows that o < 1 and o > 1. If the players follow

these strategies, player 1 receives: U; = 1 (2£1)% — s — k. Suppose player

n+2
1 deviates to 0] = (1,0), 2f = 0. This deviation yields U] = (Z—i;) , which is
profitable unless — ( n:21)2 a2 > k. But, it is also required that k£ > 0 for there to be

no profitable deviations. Since these inequalities cannot simultaneously hold, a

profitable deviations always exists. Thus, (3) is never an equilibrium.

.6, = (0,0),6, = (1,0)

If the players follow these strategies: U; = 1 (Z—jrr;)Q o~ =k, Us = 3 (Z—E)Q o2—
(7’;;1)2@%. Suppose player 1 deviates to ¢, = (1,0), 2} = 1, which yields U] =
2 (2—15)2 af — 2¢25503 — k. This will be a profitable deviation unless a3 > $(n +
1)aZ. Now, suppose player 1 deviates to ¢, = (0,1), 2} = 1, which yields U] =
3 (Z—jt;)Q max(a?, 1) — (TZ‘F%Q% k. This deviation will be profitable unless a} > 1.

The conditions (i) 3 > 3(n+1)af and (ii) o > 1 imply that a3 > 2(n+1)a}, which
is violated for all n > 2. So, no equilibria of type (4) exist when n > 2.

We will now show that no equilibria of type (4) exist when n < 2. Suppose player
1 deviates to ¢, = (1,0), 5 = 0. This yields: U] = %(2—15)20@ igas. This
deviation is profitable unless £ < 0. But, we also need £ > 0 (otherwise, there
will be a profitable deviation). So, the only possible value of k is k = 0. Finally,

suppose player 1 deviates to 0] = (0,1), 2} = 0, which yields U] = % (”*1) This

84



deviation is profitable unless 1 (2£1)® 02 — 4L 42 _f > 1 (21} Combining this

n+2 (n+2) n+2
with the assumption that k = 0, we find that it is necessary to have: af > —22a3+1.
But, when n < 2, this condition is always violated. Thus, no equilibrium of type

(4) exists.
Case 2c: Interaction, initiated by player 2 only (z; = 0,2, = 1)

Observe that there will be a profitable deviation to 27 = 1 if k < 0. There will not be
a profitable deviation to 2} = 1 if k > 0. Therefore, it will be sufficient, after imposing

the condition k£ > 0, to restrict attention to deviations in which 2z} = 0.

It is useful to observe that, if a particular (6;, ;) combination was never an equilib-
rium in Case 2a, it will never be an equilibrium in Case 2c. The reason is that there will
be an equivalent profitable deviation in Case 2c to the one that existed in Case 2a. For

this reason, there are only four types of (6;,62) combinations that need to be checked.

1. 81 == 92 - (1,0)

If the players follow these strategies, they receive: U; = 2 (2—3)2 af — dgtssas,

Uy = 2 (Z—jr;)Q al — 4(:j21)2a% — k. In order for this to be an equilibrium, there

cannot be any profitable deviations. There are seven types of deviations we need
to check.

(i) Player 2 deviates to 65 = (0,1), 2, = 1: yields U} = %(Z—Q)Qmax(a%, 1) —
2l a2 — k.

(n+2)
(ii) Player 2 deviates to 6, = (0,0), 24, = 1: yields U} = § (Z—é)? a3 — 285m0t — k.
(iii) Player 2 deviates to 8 = (1,0), 24, = 0: yields U; = 1 (2—3)2 a3 — 2585507,
(iv) Player 2 deviates to 6, = (0, 1), 24, = 0: yields Uj = 3 (Z—é)z
(v) Player 2 deviates to 6, = (0,0), =, = 0: yields U} = 0.
(vi) Player 1 deviates to 8] = (0,1), z; = 0: yields U] = 1 (Z—i;)Qmax(a%, 1) —

2l o2
(n+2)2 2"

(vii) Player 1 deviates to ¢; = (0,0), 2} = 0: yields U] = 1 (2—3)2 af — 205505,
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Observe that (1) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations and k£ > 0. Only conditions (iii), (iv), (vi), and (vii) are binding:

Condition (iii): (%)2 (303 — 2501) >k

'—‘w

Condition (iv): (2t} ) (205 — “5al— 1) >k

n+2 n+1-1

Condition (vi): af > § + n_+1

Condition (vii): 207 > - +1a2. Observe that this condition fails to hold when
n = 0.

Condition (k): £ > 0

6 =6, = (0,1)
If the players follow these strategies, they receive: U; = 2 (ZE) —Aghe Us =

2 (;‘—i;) — 44455 — k. In order for this to be an equilibrium, there cannot be any

profitable deviations. There are seven types of deviations we need to check.

(i) Player 2 deviates to 0, = (1,0), , = 1: yields Uj = %(”—“)Qmax(ag, 1) —

n+2
2(1?:21 — k.
(ii) Player 2 deviates to 65 = (0,0), 4 = 1: yields Uj = 1 (n—é)2 — 2025, — k.
(iii) Player 2 deviates to 8, = (1,0), 25, = 0: yields U} = 1 (Z—i;)Z a2,
(iv) Player 2 deviates to 65 = (0, 1), 2, = 0: yields U} = 3 (2—15)2 — 25
(v) Player 2 deviates to 6, = (0,0), 2, = 0: yields U} = 0.
(vi) Player 1 deviates to 8] = (1,0), z; = 0: yields U] = 1 (Z—Q)Qmax(af, 1) —
20
(vii) Player 1 deviates to ¢; = (0,0), 2} = 0: yields U] = 1 (’;—i;) — 2525

Observe that (2) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations and £ > 0. Only conditions (i), (iii), and (iv) are binding:

Condition (i): % > a3. Observe that this condition is violated when n = 0.
Condition (iii): (;‘—i;) (2(24) —303) > k

Condition (iv): (“£))” (3 — -2.) > k

Condition (k): £ > 0
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3. 0, =(0,1),0, = (1,0)

There will be a profitable deviation for player 1 to 6] = (0,0), 2} = z; if o > 1.
There will be a profitable deviation for player 2 to 6, = (0,0), ¥}, = x5 if a3 < 1.
So, we will assume for what follows that o < 1 and a3 > 1. If the players

follow these strategies, player 2 receives: 1 (241)% a2 — mtL . Suppose player

n+2 (n+2)2
2 deviates to 0, = (1,0), 2, = 0. This deviation yields U} = % (”ié) a2, which is
profitable unless —¢ ”;;1 > k. But, it is also required that £ > 0 for there to be

no profitable deviations. Since these inequalities cannot simultaneously hold, a

profitable deviations always exists. Thus, (3) is never an equilibrium.

4. 6, = (0,0),6, = (1,0)

If the players follow these strategies: U; = 2 (Z—E) ? al— (,7121 sa3,Uy = 1 (2—15)2 o3 —
n+1

32)? o2 — k. In order for this to be an equilibrium, there cannot be any profitable

deviations. There are seven deviations we need to check.

(i) Player 1 deviates to #; = (1,0), 2} = 0: yields U] = 2 (2 2)2 — 2 a3,
(ii) Player 1 deviates to ¢; = (0,1), 2} = 0: yields U] = %(Z—i;) max(a?, 1) —
GEIRE

(iii) Player 2 deviates to 6 = (0,1), 24, = 1: yields U} = 3 (Z—Jréf —k

(iv) Player 2 deviates to ¢, = (0,0), 2, = 1: yields U, k
(v) Player 2 deviates to 6, = (1,0), x4, = 0: yields Uj = 1 ("—Jr§)2 a3 — mal.

(vi) Player 2 deviates to 6, = (0, 1), 2}, = 0: yields U} = 3 (n—iéf

(vii) Player 2 deviates to ¢, = (0,0), 2, = 0: yields U = 0

Observe that (4) will be an equilibrium if and only if (i) through (vii) are not prof-
itable deviations and £ < 0. Only conditions (i), (ii), (iii), (v), and (vi) will be
binding;:

Condition (i): o} > 3(n + 1)a?

Condition (ii): o} > 1. Observe that the combination of conditions (i) and (ii) are
violated for n > 2.

Condition (iii): a3 > 1 + =50}
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Condition (v): £ < 0. Observe that, combined with condition (k), this implies
k= 0.
Condition (vi): 1 (2—3)2 a5 — el — 3 (ﬁ—ié)Q > k.

Given that k = 0, this condition can be rewritten as: a3 > 1 + —== ~ +1

Condition (k): £ > 0

Case 2: Combined

If we combine Cases 2a, 2b, and 2c, we find the following.

1. An equilibrium with #; = 6, = (1, 0) and interaction between the players exists if:

N a2 > 1 4 2
(i) a7 = 3+ n+1a2’ af > 3(n+1) 42

- ndl\2 - (3 2 2 4 .2 1V) _T..
(11)k;§max<07(n+2) min (303 —Haf, 205 — e ad 2))—1%

(i) n > 1
2. An equilibrium with §; = 6, = (0, 1) and interaction between the players exists if:

: 4
(1) S nrl

(i) k < max(0, () min (2 (252) — L3, 3 — -2) = ks

(i) n>1

3. An equilibrium with ¢; = (0,1), 62 = (1,0), and interaction between the players

exists if:

(i) a3 > max (12t A2 (n+1) (204 — 1)).
(i) o? <1
(i) k <0

Observe that these conditions will be violated when n > 2.

4. An equilibrium with 6; = (0,0), 6, = (1,0), and interaction between the players

exists if:
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(i) af > max(3(n+1)af, 1+ 5a)
(i) ao? >1
(iii) £ <0

Observe that these conditions will be violated when n > 2.

This completes the proof. O

Proof of Lemma 5. To prove the lemma, it is sufficient to show two things to be true.

Holding oy and « fixed:

(i) If an equilibrium exists for some value of k£ in which players interact and focus on
different activities, no equilibrium exists for any value of k£ in which players focus

on the same activity.

(ii) If an equilibrium exists for some value of k in which players interact and hold
different values, no equilibrium exists for any value of k in which players hold the

same values.
Let us assume, without loss of generality, that oy > «;.
Case 1: oy, > Oy
Applying Proposition 2, (i) and (ii) can be restated as follows:

(i) If equilibria of type (3) exist for some £, equilibria of types (2), (4), and (5) do not

exist for any values of k.

(ii) If equilibria of types (3) or (5) exist for some k, equilibria of types (2) and (4) do not

exist for any values of k.
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Showing (i): If an equilibrium of type (3) exists for some k, we must have of <
a3 and a; < 1. Let us suppose this to be the case. In order for an equilibrium of
@ +1) . But, in order for this to hold,

a3, which can never be sat1sf1ed Thus, equilibria of type (2)

1
+ 2(n+1)
type (2) to exist for some k, we must have a? > 1+ —2—~

2
1 + (n+1) 520 > 1+ 540y (n+1)
do not exist for any values of k. In order for an equilibrium of type (4) to exist for some £,

wemusthave af > j+,5703. Itfollows that we must have j+ 703 < of < j+55.5703,

which can never be satisfied. Thus, equilibria of type (4) do not exist for any values of
k. In order for an equilibrium of type (5) to exist for some k, we must have 1 < of. But,
this contradicts our assumption that o; < 1. So, equilibria of type (5) do not exist for

any values of k. Thus, (i) holds.

Showing (ii): We have already shown that, if an equilibrium of type (3) exists for

some k, equilibria of types (2) and (4) do not exist for any k. If an equilibrium of type

2

(5) exists for some k, 1 < af < a;3. Let us suppose that this condition holds. In

2
3(n+1)
order for an equilibrium of type (2) to exist, we must have o] > 1 + ot )a2 It follows

that we must have )a2 > 1+ )042, or — a2 > 1 (which can never be true).

4
3(n +1 n+1 3(n+1)
Thus, equilibria of type (2) cannot exist for any k. In order for an equilibrium of type

2

4) to exist, we must have o? > «Q But, this contradicts our assumption that
1 2 P

_4
3(n+1)

ad < oD +1) a3. So, equilibria of type (4) do not exist for any k. This shows that (ii) holds.

Case 2: oy < @,
Applying Proposition 3, (i) and (ii) can be restated as follows:

(i/ii) If equilibria of type (4) exist for some k, equilibria of types (1) and (3) do not exist

for any values of k.

Showing (i/ii): If an equilibrium of type (4) exists for some k, we must have a3 >

4 — 2. Let us suppose thls to be the case. If an equilibrium of type (1) exists for some

k, we must have a3 < “—. But, this cannot hold since a5 > 4 — 27 and 4 — 2 > 2.
4n

—17- But, again, this

cannot hold since a3 > 4 — ? and 4 — —5 > —%. This establishes (i/ii).

If an equilibrium of type (3) exists for some k, we must have o3 S

Case 3: a, S a1, Qg S O
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Applying Proposition 4, (i) and (ii) can be restated as follows:

(i) If equilibria of type (7) exist for some £, equilibria of types (1) and (2) do not exist

for any values of k.

(ii) If equilibria of types (7) and (8) exist for some £, equilibria of types (1) and (2) do

not exist for any values of k.

Showing (i): If an equilibrium of type (7) exists for some £k, we must have n < 1.
Suppose this is the case. An equilibrium of type (1) only exists if af > 1+ -2;03. But
since n < 1and ay > aj, this condition cannot be satisfied. Therefore, an equilibrium of

n—_

type (1) cannot exist. An equilibrium of type (2) only exists if a3 < “—.. But, once again,
since n < 1 and «ay > 0, this condition cannot be satisfied. Therefore, an equilibrium of

type (2) cannot exist. This establishes (i).

Showing (ii): We have already shown that, if an equilibrium of type (7) exists for
some k, equilibria of types (1) and (2) do not exist for any k. Existence of an equilibrium
of type (8) also requires n < 1. Therefore, by the same logic, if an equilibrium of type (8)
exists for some k, equilibria of types (1) and (2) do not exist for any k. This establishes

(ii) and completes the proof. O

Proof of Proposition 5 and Lemma 6. First, let us establish that, in any equilibrium, players

value one activity (except possibly a set of players with 0 mass).

As in the baseline model, the returns to effort will be (weakly) greater at one of the
activities. Furthermore, players prefer, all else equal, not to exert effort at activities. It
follows that players will exert effort at — at most — one activity in equilibrium. Players
will either be below average or average at activities when they exert no effort. Since
players prefer, all else equal, not to value activities, it follows that players will either

value one activity or zero activities in equilibrium.

Suppose there is an equilibrium in which a fraction A of the players value activity s.
By alogicidentical to that given in Lemma 5, players who value activity s will interact in
equilibrium with all players who hold the same values (except perhaps a set of measure

0); players who value activity s will not interact with players who hold different values
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(except perhaps a set of measure 0). Following a logic similar to that from Lemma 2,
players valuing activity s will choose to exert effort \; + [ at activity s, and zero effort
at other activities. Since a fraction A, of the population exerts effort A\, + 3 at activity
s, and the rest of the population exerts effort 0 at activity s, the average achievement at
activity s is: @; = A\s (A + 8). From this, we conclude that players who value activity s
receive utility: (3 — ;) (As + 3)2

Suppose now that a positive mass of players values no activity in equilibrium. (We
will show that this creates a contradiction). By an identical logic to that given in the
proof of Lemma 5, it follows that such players will not interact with any other player
in equilibrium. And, by an identical logic to that given in Lemma 1, it follows that
these players will choose to exert zero effort at all activities and will receive utility 0. If
these players deviate and instead choose to value activity s, they would receive utility
(2 = Xs) (As+ )2 Since this deviation cannot be profitable, we must have (5 — A,) (As+
B)? < 0 for all s, which is true if and only if \; > % for all s. The only way we can have
As > 3 forall sisif M = 2and A\; = Ay = §. But, if A\ = Ay = 3, it follows that there
cannot be a positive mass of players that value no activity (a contradiction).

Thus, we have established that, in any equilibrium, players values one activity (ex-
cept possibly a set of players with 0 mass). Furthermore, we have established that
players who value activity s receive utility (3 — X,) (As + ) in equilibrium, where ),
denotes the fraction of players who value activity s. We will refer to players who value
activity s as a group of size \;. We will focus on characterizing the set of equilibria with

the property that all groups are of equal size (i.e., for all s, \, = ) or 0).
Case 1: every activity is valued by a positive mass of players in equilibrium.

First, we will examine the possibility that equilibria exist in which every activity is
valued by a positive mass of players. Since A, > 0 for all s, we must have A, = 5 for all
S.

Let us check whether it is an equilibrium for all activities to be valued by a fraction

+; of the players. There are two ways in which players can deviate. One way in

which a player can deviate is by joining a different group. But, since groups are all

of the same size, it is not profitable to join a different group. A second way in which
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a player can deviate is by choosing to value no activity, which yields utility 0. We
know this is an unprofitable deviation since players who belong to groups receive utility
1 1

(3 — 17) (57 + B)* = 0. Hence, it is always an equilibrium for the players to divide into

M groups of equal size.
Case 2: m < M activities are valued by a positive mass of players in equilibrium.

Now, let us examine whether equilibria exist in which m < M activities are valued
by a positive mass of players. We must have A\, = - for all activities valued by a positive

mass of players.

Let us check whether it is an equilibrium for a fraction - of the population to value
each of m activities. There are three ways in which players can deviate. One way in
which a player can deviate is by joining a different group. But, since groups are all of the
same size, it is not profitable to join a different group. A second way in which a player
can deviate is by choosing to value no activity, which yields utility 0. A third way in
which a player can deviate is by starting a new group (a group of size 0), which yields
utility 15%. Observe that this third type of deviation is always preferred to the second
type of deviation. This deviation will be unprofitable if and only if: (1 — L) (L + )% >
2. The reason this inequality is strict is that a player who deviates forgoes having
to pay a positive (but negligible) cost of initiating interaction with other players in his
group. If 3 > 1, this deviation is profitable for all m. If 3 < 1, the condition can be

1

rewritten as: m > m, where m solves: (3 — %) (£ + 3)? = 152

This completes the proof. O
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